Riverside

FURNITURE

email:

info@riverside-furniture.com

Cascade
Dining Room

Assembly Instructions

Page 1 of 2

Made in Viet Nam

Components packed with the #73453 Table Top

Table Top

A 1 pc.

Components & Hardware packed with the #73447 Table Base

Bridge Panel Base Upper Stretcher Lower Stretcher
73453 RECT CNTR HT DINING TABLE-TOP
B 2 ps. C 2 pes. | D 1 pc| E 1 pe. 73447 RECT CNTR HT DINING TABLE-BASE
05/16" x 1-1/2" 05/16" x 1-3/4" ?5/16" Spring Washer @5/16" Flat Washer Smm Allen Key
Allen Head Bolt Allen Head Bolt
F 16 pcs. | G 12 pes.| H 28 pcs. | 1 28 pes. | J 1pc.
Q14" x 1-1/4" ©1/4" Spring Washer ©1/4" Flat Washer 4mm Allen Key "L" Metal
Allen Head Bolt
) 3
. )
Qg =
K 6pcs. |L 6pcs. | M 6pcs. | N lpc | O 2 pcs.

Be sure to check all packing material carefully for small parts, which may have come loose inside the carton during shipment.

Step1 (Kx2)

Step 2 (Gx4)

Step 3 (Kx4)




R WU}W Cascade Page 2 of 2

i Made in Viet Nam
FURNITURE Dlnlng Room 73453 RECT CNTR HT DINING TABLE-TOP
I infoariversi : Assembly Instructions 2y RECT c Ba

email:  info@riverside-furniture.com Y 73447 RECT CNTR HT DINING TABLE-BASE
Step 4 (Gx8)

G

H

I

B
Step 5 (Fx16) S |

Step 6






